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SNt 17,236,170 9,249,598 7,986,572
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BXOHE X+ E8l 200,000 200,000 0

401 Al HI L S CHYI 200,000 200,000 0
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AME TN (SADNE AL S S 3 AH) 15,959,212 5,241,286 10,717,926
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02 Zelt| 775,000 775,000 0
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775,000,000 x14] 775,000
03 Al 20 bl 34,631 12,043 22,588
OAHXIF S XN AF (0.23%)
34,631,000 *14] 34,631
STEUXNL (SAIHLAMLESSIH) 600,000 0 600,000
S SHANL S A 600,000 0 600,000
401 Al HIL R CHEI 600,000 0 600,000
01 Al&H| 596,220 0 596,220
OSEAT ZAHEEZ HEAY
600,000,000 *99.37% 596,220
03 Al&=THHI 3,780 0 3,780
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WLesS(SSHE) 280,000 144,220 135,780
WEHHRS(ZAIHLAISELSIA) 280,000 144,220 135,780
WRHHXI= 280,000 144,220 135,780
705 Ol ==&z aE 280,000 144,220 135,780
02 Oll===2 0l Xp &t & 280,000 144,220 135,780
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